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74 |TFIN2 1 04FM2 1 |51 6 3FH 4 HFoAY " es 202
75 [FTY2 10 4%HMI2 1 [FITYI1 6 3FHI4 HF AV es 303
76 |TFiL2 1 0 5F M2 |FyLYN 1 6 5 FHH
77 |72 1 05FM2 [5Z 1 6 5 &K
78 |TFiL2 1 0 5FM 3 |FILPN 1 6 6 FHhh
79 |F 21 05FM6 [0 2 1 4%
80 |FLN2105&FK M6 [FFyrpl2 1 4 FKH
81 [FyLN2 1 05%FKM9 [Fyr2 1 5FKH2
82 |THLU2 1 05%&M9 |"FL2 1 5&HM2
83 [y 2 1 05%&KM9 [Fyr2 1 5FKH2
84 |FyriN2105F M1 0 |5yl 2 1 5% M1
85 |21 05%FM1 4 |[Fyryl2 1 8FH 2
86 |Firi2105F M1 5 [Fyrl2 1 7&M1
87 |FriN2105F M1 7 |5yril2 1 7H/ M1
88 |FIYN2 1 05FM 1 9 [Zyrpl2 1 7H&HM1 0
89 |Fir2105F#Mm20 |[FjriN2 1 6FHMS5 Casa Felice 1F
90 |Fril2105F#M20 |5yl 2 1 6 &M S5 Casa Felice201
91 [FIT¥N2 1 05%M2 0 [FILUN2 1 6 F&Hh5 Casa Felice301
92 |FLN2 1 05FM2 0 [F=JTPN2 1 6 FH 5 Casa Felice302
93 |Fril21 05F#M2 2 |Fyriyl2 1 5FH 3
94 |FTPN2 1 05FM2 3 [F=JTPN2 1 6 FH 3
95 ?{rm 21 05FHM3 2 [FLl 1 6 6 Fi
96 |21 05FH3 6 [N 1 6 5 FHl 1
97 [T 2106F M2 [T 2 1 6 FHi4
98 |FLN2 1 06&FKMM3 [yl 2 1 3 FKH
99 [Ty 2 1 06&M4 [TFILM2 1 6 KH6 —
100 [F5Ti2 1 0 635 [FT2 1 6 &1
101 [FFC2 1 0 6 FKH6 [T 2 1 6 &1
102 [FT2 1 0 637 [FyTN2 1 6 /M5
103 [Fyry2 1068 |FIro2 1 7&M4
104 |21 06FM1 O [Tl 2 1 6 FHi 1
106 |2 1 06FM1 0 [Fyril2 1 6 FH1
106 |2 1 06&/ M1 1 |[Fyryl2 1 2%H 3
107 |50 2 1 0 7&/#2 [5902 5 7FH 3
108 |52 1 0 7&MS  |[5yLi 2 5 8 &
109 [FFC2 1 0 7&K [T 2 5 9 &l 1
110 |72 1 0 78&#8 |5yt 2 5 9F M1
111 [FT¥I2 1 0 7M1 0 EITUN 2 5 9 FHi 1
112 |52 1 0 8 &M 1 [5yTil 2 2 0 &4
113 [Fyryi2 10 82 |FIryi2 2 0%
114 |57L2 1 0 8 &M 2  [FyTil 2 2 0 &
116 |"7/T¥N2 1 0 8&M6 |FIM2 5 6 &ith2 FT/AN101
116 |[F5Ti2 1 0 8&EM6 [T 2 5 6 FH 2 RT/LN10 2
117 |7F/TPi2 1 0 8%M6 |FIM2 5 6 &2 FT/LN103
118 |[F5Til2 1 0 83&FM6  [FHTi2 5 6 FH 2 F=/LN20 1
119 |57/T¥i2 1 0 8%M6 |FIM25 6 &2 FT/AN20 2
120 [F5Ti2 1 0 83EMi6 [T 2 5 6 FHi 2 F—/LN2 0 3
121 [Fyryi2 1 0 8FMT7 |FIL2 5 332
122 |F5Ti2 1 0 91 [T 2 1 231
123 [FI2 10 9OFM2 |FII2 2 43&H2
124 |F7Ei2 1 0 9FM 3 |Fyryl2 2 5 & H 3
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1256 [FLPH2 1 0 9FM6 |FILM2 1 736
126 [F5Tu2 1 0 96 [FyTul2 1 73/ H6
127 [F9E2 1 0 9FM 7 [FyrgN2 1 7F/ M5
128 |F/LiH2 1 0 9FM O  [FyTil 2 2 4 FHh
129 |21 0 9FH 1 2 [Z2jT 2 2 4 B
130 |2 1 0 9FM1 5 [Tyl 2 2 5 FKH 2
131 [FTW2 10 9FHI1 6 T 2 2 A FHh 4 0 [
132 |2 10 9FM1 6 [FITPN2 2 4 FKH 4
133 |2 10 9FM1 7 |5yt 2 2 5 FH# 4
134 |21 0 9F M1 8 [Tl 2 2 5 &M 1
135 |2 10 9FM1 9 |5yril2 2 5FH 3
136 |2 1 0 9FM2 0 |5yl 2 2 5 &M 4
137 ?{rm 2109F M2 1 |FEpH2 2 53K 2
138 |F/LuH2 11 OF#M 1 [5yTi 1 8 1 & a— kYU IFA4X101
139 [FFCi2 1 1 0FHM 1 [F9r1 8 1 FHhb a— YT/ X103
140 |57CuH2 11 OF#M 1 [5yTii 1 8 1 & a— kYU IFA4X201
141 [Fri2 11 0FHM 1 [F90 1 8 1 Hhb a— YT A4 X202
142 |52 11 OF#M 1 [5yTii 1 8 1 & a— kYU FA4X203
143 [FFCi2 1 1 0FHM 1 [FF9C 1 8 1 Fhb a— YT 4X301
144 |57CuH2 11 OFM 1 [5yTii 1 8 1 & a— kYU FA4X303
145 [FFCi2 1 1 0FHM 1 [0 1 8 1 Hhb a— Y T4 X303
146 |57CuH2 11 OF#M 1 [5yTi 1 8 1 & a— YU FA X501
147 [FCi2 1 1 0FHM 1 [FF9r 1 8 1 HHb a— YT A4 X502
148 |5/LuH2 11 OF#M 1 [5yTi1 8 1 & a— kYU TFARX502
149 [FFri2 1 1 0FHM 1 [FF9ri 1 8 1 FKhb a— YT A4 X502
150 |5/CuH2 11 OF#M 1 [5yTii 1 8 1 & a— kYU FA4 X503
1561 [FFCi2 1 1 0FHM 1 [F9r1 8 1 Hhb a— YT A4 X503
162 [FT2 1 1 0F#2 [Tl 8 0FH 3
163 [FYryf2 1 1 02 |FIryf1 8 0 %M 3
154 [Tl 21 1 0% 0 [F9T9 1 8 0 FKH 2 w201
155 |2 11 0&F M1 0 [5yril1 8 O FHh 2 i~ aL 202
156 |2 1 1 0F M1 0 |5yl 1 8 O &K 2 w3301
157 |=FrH2 11 0&F M1 0 |[5yril1 8 O FHh 2 e~ a 302
158 [Tl 21 1 0% 15 [Tl 2 1 1 &+
159 ?{rm 21 10F M1 7 |51 S 0FH 2
160 |21 1 0%FKM1 8 [FyLiPN2 1 2 FH 1
161 ?{rm 21 10F M1 8 |Frl21 231
162 |21 1 0FKM1 9 [Tl 2 1 2FKH 2
163 |2 11 0FM2 0 |Fyril2 1 2% H 2
164 |21 1 0FM2 1 [yl 2 1 1 FHe
165 |2 11 0F#M2 2 |5yt 2 1 0FH 3
166 i{rm‘ 211 0FHM2 3 [FLul2 1 0FH1
167 [FF9Cgi2 11 18/ 1 [FF9r4 4 Fh 1 oA VS 201
168 |Fyryi2 11 181 |[5yril4 4 %1 PN AVS 205
169 |Fyru2 11 1 &1 [F9rd 4 F#n 1 oA VS205
170 |2 11 1861 |[52rl4 4 %1 B A>VS 301
171 |5yrgi2 11 1 &1 [59md 4 F# 1 HNAVS 302
172 |2 11 1861 |[52rl4 4 %1 B4V S 305
173 |Fyrgi2 11 1 &1 [59md 4 F# 1 oA VS401
174 |2 11 181 |[52rl4 4 %1 P4V S 402
175 |Fyrg2 11 1 &1 [F9m4 4 F# 1 HNAVS 403
176 |Fyrgi2 11 1861 |[52yrl4 4 /1 PN AYS 405
177 [Fri2 11 1 &M 2  [5Fri 1 9 8 Fhk
178 |FTi2 11 1383 [T 1 9 8FH# 2
179 [FYri2 11 13 [Tl 9 832
180 [FyLuH2 11 1%&#M9  [5yTi2 0 1 &
181 |21 1 1&H1 0 |59 2 0 7 B EEBREL 20 287=
182 |21 1 1F/HM1 O [T 2 0 7 FHt R EL1 0 1
183 |21 1 1&H1 0 |59 2 0 7 HFHh =GR E L1 0 2
184 |21 1 1F/ M1 O [T 2 0 7 FHt EEBHEE L1 0 2
185 |ZTPH21 1 1&H1 0 |59 2 0 7 B R E L 20 1
186 |21 1 1F/HM1 O [T 2 0 7 FHt TEBERENL20 3
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187 |=TH21 1 1&H1 0 [59T9 2 0 7 B =R EL 205
188 |21 1 1F/HM1 O [T 2 0 7 FHt wEABHREE L 30 1 &
189 [T 21 1 1&H1 O |5y 2 0 7 B =GR E L3 0 2
100 |2 11 1%/ M1 O [T 2 0 7 FHe EEHEE L 30 3
191 |21 1 1%&H1 0 [5290 2 0 7 B =GR ENL 305
192 |=FrH2 11 1%&#1 2 |52l 2 0 8 Hi
193 |=FrpH2 11 1%&#1 2 [5y0 2 0 8 Hih
194 |=FrH2 11 1%&#1 4 |52l 2 0 7&H 1
195 |2 11 1 %M1 5 |[5yryl2 0 7% H# 2
106 |2 11 1 %M1 8 |5yl 2 0 7 FH 3
197 |21 1 1F/#M2 1 [529090 2 0 0 Bl
198 |21 1 1F/HM2 2 [T 2 0 1 FHe
199 |21 1 1&H#2 5 |52 1 9 8 FH FUET /S— | 4 =
200 |TFLUN2 11 1 %/H 3 0 "L 4 5 &K 3 2 [
201 |2 11 1/ 3 0 |ZF7r4 5 &K 3
202 [|TFLUH2 11 13BM3 1 |TFiepl4 53K
203 [FyrM2 11 1% 3 3 [Firi4 4 FH
204 |TFLUN2 11 1 F/KH 3 4 "L 4 4 Fih 3
206 [FrgN2 11 2FHM 1 [Pl 2 3 0 FKHe
206 |TLIN2 1 1 2F&HM 3 |FILN 2 2 9 Fih
207 |FHLUN2 1 1 2%/ M7 T2 2 S3EH 2 77 4T LA A20 1
208 |THIPN2 11 27 Ll 2 2 8FH 2 T4 T VLA A20 2
209 |[FHLYN2 11 2%/ M7 |FHLN2 2 S3EH 2 77 {71 AA30 1
210 [T 2 11 2%/ M7 |2 2 8FH 2 794 T VLA A30 2
211 [FrpN2 1 1 2%/ 7 [Pl 2 2 8 FKHI 2
212 [T 2 11 3F/H6  |FTl2 4 6 FH 4
213 [FrpN2 1 1 3FH7 [FiLpN2 4 6 FKHi 4
214 |THTPN2 11 3/ S |TFHTUH2 4 6 FH 4
216 |FHLUN2 1 1 4% M1 |FrpN4 6 K
216 |TFHIPN2 11 4/ M4 |Frpl2 3 731
217 |FHLPN2 1 1 4%HMe  |FIrN2 3 63K 2
218 |TIIN2 1 1 4FH 7 [T 2 3 0 &K
219 [FrN2 11 4FHS [FrPl2 3 1 FKHr
220 [FyruM2 11 4%FH1 0 |TFiLil2 3 4 2
221 |52 11 4/ 1 1 [==rl 2 3 2 &
222 |FyruM2 11 4%FHM1 4 |TFiE 2 3 3EH 2
223 |FyrM2 11 4% 1 5 |[=FiC 2 0 8 FHh 2
224 |ZEyTM2 11 4/ 1 7 [FyL 2 3 5 %K
225 |FTN2 11 4/ 1 8 [yt 2 3 5 &K
226 |2 11 4%/ 1 9 [Tl 2 3 5 3%
227 |2 11 43/ 2 0 |[==irl 2 3 8 FHih S A=Y 101 5=
228 |FEyTM2 11 43/H2 0 [“FyLil 2 3 8 FKih S =PI 1 025=
229 |2 11 4/ 2 0 |[=#irl 2 3 8 FHih S =Y 201 5=
230 [FyEM2 11 4F/H2 0 [FyLi 2 3 8 FKih 2 =PI 202 5=
231 |2 11 4/ 2 0 |[=#irl 2 3 8 FHih S =Y 301 5=
232 [FyTM2 11 4/ 2 0 [“FyLil 2 3 8 FKih 2 =P 3028&=
233 |FrN2 1 1 5&M1 [yl 2 3 9 FKHr
234 |TIIN2 1 1 5% 1 |FLl 2 3 9 Fih
235 |FCPN2 1 1 5F&M3 [FiLPl 2 3 9 FKhHr
236 |TLPN2 1 1 5%&HM3  |FLl 2 3 9 Fih
237 |72 1 1 5&MA [Firyl2 3 4 FKhHe
238 |TLIN21 1 6 &2 |FILUN2 4 3 FHM 2 F
239 [FrN2 11 6FKM2 [FiLPN2 4 3 FKH
240 |TFLIN2 11 6 &S  |FILUN 2 4 3 FHh
241 [|FrN2 11 6 FH S5 [FiLPN 2 4 3 FKH
242 |TLIN2 1 1 6 &S5 |FILUN 2 4 3 F
243 |FHLUN2 1 1 7H/M1 |[FHLPN2 4 23K 5
244 |THIN2 11 7/M 3 |TFTl2 4 2% 4 2 F
245 |FHLPN2 1 1 7H/MS [T 2 4 23K 4
246 |TFLPN2 11 73/HS5  |TFHTPN2 4 2 FKH 3
247 |FrN2 11 7 &M T [FLoN2 4 1 FKhHe
248 [T 2 1 1 7M1 O [“=FiCil 2 4 2 K 6
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249 |FyTuM2 11 7&FM1 2 [FIC 2 4 5 &M 2
250 |[FyCiM2 11 731 4 |ZF7L 2 4 6 Fih 3
251 |ZEyE2 11 73/HM1 8 [yt 2 3 3 &K
262 |TTHIPN2 11 8/ M1 |FTyl2 4 531
253 [FrgN2 11 8FM2 [FirPN2 4 5FKH 3
264 |THIPN2 11 8F/M 7 T2 4 6 FH 2
255 |FCPN2 11 8FHM S [FrPN2 2 2 7FKHI 1
266 |TTHIPN2 11 8F/M S |Fryl2 2 231
257 |FrN2 11 8 FHM 9 [FiryN 2 2 3 FKHh
268 |2 11 83FHi1 O [Tyl 2 2 23&Hh 1 a—RADIFE20 2
269 T2 11 83FH1 O [Tyl 2 2 23K 1
260 [FyCuH2 11 83FHI1 1 [Fyryl 2 2 2 FiHh 1 77—~ HEIN2F
261 [Tl 2 11 8&FM 1 1 |[FyLi2 2 2 &M 1 7T —~_A L HEJI3F
262 |Fyrui2 11 8FMI1 1 [Firuli2 2 2 /M1 77—~ HEN50 1
263 |[FTuN2 11 8&FMM 1 1 |[FyLiN2 2 2 &M 1 7T —_A L HEES0 2
264 |FyruH2 11 8FM1 2 [Firui2 5 1 &l 1 2 F
265 |FyruH2 11 8FHi1 2 [=iryi2 5 1 Hihi 1 2 F
266 [Fyrui2 1 1 8SFEM 1 4 |TFiril2 4 7E M 3
267 |FyrM2 11 8FM 16 |FiLi2 4 7FK M2
268 |[FyCuH2 1 1 83FHI1 8 [Fyrul 2 4 7 FKih 1
269 |FEyTN2 11 8FHMI1 9 |yt 2 4 8 FHih
270 |THTPN2 11 9FM 1 |Fryl2 4 9FH 1
271 |FrN2 11 9FH 2 [FrpN2 4 9FKH 6
272 |THIPN2 11 9/ M4 |TFTPH2 4 9FHS
273 |52 11 9FHM S5 [FiLPN2 5 0 FKH 5
274 |THIN2 11 9F/He  |TFTl2 5 0FH 4
275 |52 11 9FH 7 [FrPN2 5 0 FKH 5
276 [Fyril2 11 9FM O |Firi2 4 9FH 2
277 |5yri2 11 9FHM 1 0 |=FiLii 2 4 9 FHh 2
278 [Fyri2 11 9FHMi1 1 |"Firili2 4 9FH 7
2719 |52 11 9FH1 2 [=Zirl 2 4 9 FKi
280 |TFLIN2 146 &M 1 |FILUH2 8 0 Fih
281 [Fr2 146 &K1 [FiLPl2 8 0 FKhHr
282 |TFIN2 1 462 |2 7 9F M1
283 [FirPN2 1 4 6FKHMmA [FILPl2 7 8 FKHI 2
284 |TTTPN2 1 4 63/HS5  |TFHTYN2 7 8 FHI 3
285 |FHLUN2 1 4 6 %M |FHLPN2 7 S/FH S 2 F
286 |TFILPN2 1 4 63/ |TFHLYN2 7 8 FHIS
287 |2 1 4 6 FKMS [FirPN2 7 8FKH 5
288 [Fyri2 1 4 6FHM1 0 |TFiL2 7 7&K 2
289 |2 146/ 1 1 [Zml2 7 7 &M
200 [EyTM2 14 631 2 [SEyr 2 7 7 K
201 |52 14 6/ 1 3 [=ml2 7 7 &K
202 VT2 14 63/HI1 4 [SEyr 2 7 7 K
203 |2 146/ 15 [T 2 6 4% H oA XE201
204 |52 1 4 6% 1 5 [FiLl 2 6 4 %Ki Yok AXEHE202
205 |Fyrui2 1 4 6%FM 15 [FiL2 6 4 FH vt ARE 203
206 |[FEyTM2 14 63K 15 [SFIL 2 6 4 FKHh Yok AXEHE301
207 |52 146/ 15 [ZFrl2 6 4 &K H A XE301
208 [FEyTM2 1 4 63/ 1 5 [SFiL 2 6 4 FKiHh Yok AXE302
209 |2 14 6/ 15 [Tl 2 6 4 FKH vt A XRE 303
300 [FEyTM2 1463/ 15 [SFIL2 6 4 FKH
301 [Tl 2 146/ 15 [Tl 2 6 4%
302 [FEyTN2 14 63/ 1 8 [SHyLi 2 7 6 Fil
303 |2 146/ 9 [Zrl2 7 6 &K
304 [FyruH2 1 4 6F/M2 1 [FLul2 7 9 %M1
306 [Fyri2 1 4 6%/ 1 [=irul2 7 9 &M 1
306 |THLPN2 14 7®/M1 |TFTH2 6 632
307 [FrgN2 14 7H/M2 [FILUN2 6 6 FHi 2
308 |TTIYN2 14 7H/M4 |TTPl2 8 TEH2
309 [FryN2 14 7HFHMS [FILPN2 8 6 FHI 2
310 [Fyril2 14 7&M 7 [FiL2 8 2% 3
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373 TN 2150%&M6 [l 2 6 1 FHS
374 |THIN2 15 0%/ M6 |2 6 1 FKHS
375 |2 1 5 0FM 7 [FirpN2 6 1 F/KHI1 0
376 [y 2 15 0FM 7 [TFir26 1 /M1 0
377 |72 1 5 0FMO [FirPN2 6 1 FKHi1 3
378 |TFLIN2 1 5 0FHM 1 O "IN 2 6 1 FEHl 2
379 |Fyr2 15 0FM 1 1 |[=FiC26 1%/ M1 1
380 [FEyTM2 15 0% M1 1 |[=FiLi26 1381 1
381 [FyTM2 15 0% M1 2 [FiCi26 1FKM7
382 |2 1 50%FHM1 4 [TFrl26 1EK#6
383 [Fi2 1 50%FHM1 6 |"FiLil2 6 13&KH#5
384 |[FICM2 1 5 0% M1 7 |“FiLiM2 6 1 &K 3
385 |[FiCM2 15 0% M1 9 |FiLi2 6 1 &FKH2
386 [Ty 2 15 0FHM20 [Tl 2 6 23&H# 3
387 |Fyri2 15 0FM2 1 L2 6 2 &
388 |TLIN2 15 1 &M [|FLUl3 0 4 FH
389 [FyryN2 15 1 &M [FLPN3 0 5 FKHh
390 |LIN2 15 1%FHM3 [FILl 3 0 5 &K
391 [FyrN2 15 1&MA [FLPN3 0 7 FKHe
392 |TIIN2 15 1 &7 [|FLUN3 0 9 Fih RU—AF%x v AL2—D
393 [FyrPN2 15 1 &M 7 [FLPN 3 0 9 FKHe RU—2AF%r v AL 2—A
394 |TIIN2 15 1 &M 7 |FLUN3 0 9 Fih FU—AF%xr v A3 —A
395 [FrN2 15 1 &M 7 [FILPN 3 0 9 FKHe RU—ALF% ¥ AL 3—B
396 |TLIN2 15 1 &M 7 |FLH3 0 9 Fih RU—AFx v A3 —C
397 [FrN2 15 1 &M 7 [FILPN 3 0 9 FKHr KU —2AF% ¥ v AL 3—D
398 |TLIN2 15 1 &9 |FILl3 1 0 &K
399 [FyrM2 15 1% M1 1 |[=F/C 3 0 0FH 4
400 [T 2 15 13H/M1 2 |50 3 0 9 FKHk
401 [T 2 15 1&FKM15 |FyC3 0 1351
402 [T 2 15 1HKM1 8 |FVLN 3 0 2 FK
403 |2 1 5 2/ [5903 1 1 B2
404 |FHTN2 15 2& M2 |FLUN3 1 1 Fi
405 |57rpN2 15 2%/ 3 [FrpN3 1 2FKHi 1 2
406 [Fri2 15 2%&M3 |53 1 2%H#1 2
407 |5rN2 15 2%/ S5 [FrpN3 1 23KHI 1 0
408 |FHTPN2 1 5 236 |FHT3 1 238
409 [F7ri2 15 2%/ 6  [57Cul3 1 2 FHi 8
410 |FHTPH2 1 5 28 |FTil3 1 23 M5
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